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PERCENTAGE Work Sheet  
 
BOOK SOURCE SPLIT UP  

 

S.No TITLE STD NEW 
OLD 

TERM Exercise 

 Percentage  7 OLD 3 2.1, 2.2, 2.3 

7 NEW 3 2.1, 2.2, 2.3 
8 OLD 3 1.1 

8 NEW 2 1.1 

R.S. AGGARWAL  
(2020 Edition)  

Page No: 308 – 373  

 
In mathematics, a percentage is a number or ratio expressed as a fraction  of 100. It 
is often denoted using the percent sign, "%" 
 

FRACTION PERCENTAGE FRACTION PERCENTAGE 

1 100% 
 

1
11

 9
1

11
% 

1
2

 50% 
 

1
12

 8 1
3

% 

1
3

 33 1
3

% 

 

1
13
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9

13
% 

1
4

 25% 
 

1
14

 7 1
7

% 

1
5

 20% 
 

1
15

 6
2

3
% 

1
6

 16 2
3

% 

 

1
16

 6
1

4
% 

1
7

 14
2

7
% 

 

1
17

 5
15
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1
8

 12 1
2

% 

 

1
18

 5
5

9
% 

1
9

 11 1
9

% 1
19

 5
5

19
% 

1
10

 10% 1
20

 5% 

 

1. a Percent = a% = 
100

a
 

2. a% of b = 
100

a
b =  b% of a  

3. Percentage Increase (or) decrease  
 

1. It the price of a commodity increases by R%, then the reduction in 
consumption so as not to increase the expenditure is  

   100 %
(100 )

R

R

 
 

 
 

It the price of a commodity decreases by R%, then the increase in 
consumption so as not to decrease the expenditure is  

   100 %
(100 )

R

R

 
 

 
 

 
2. Results on Population: Let the population of a town be P now and suppose it 

increases at the rate of R% per annum, then:  

 1. Population after n years = 1
100

n
R

P
 
 

 
 

 2. Population n years ago = 

1
100

n

P

R 
 

 

 

 
3. Results on Depreciation : Let the present value of a machine be P. Suppose it 

depreciates at the rate of R% per annum. Then:  

 1. Value of the machine after n years = P 1
100

n
R 

 
 

 

 2. Value of the machine n years age = 

1
100

n

P

R 
 

 

 

 
4. If A is R% more than B, then B is less than A by  
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   100 %
(100 )

R

R

 
 

 
 

If A is R% less than B, then B is more than A by  

   100 %
(100 )

R

R

 
 

 
 

 

1. Convert 7
4

 to percent  

7
4  
I rjtPjkhf khw;Wf.  

a. 175%  b. 17.5%  c. 1.75%  d. 140%  
 

2. Convert 28 1
3

% to fraction  

28 1
3

% I gpd;dkhf khw;Wf.  

a. 
2

7
   b. 3

17
  c. 

17

60
   d. 

85

3
 

 

3. Covert 30 1
5

% to fraction  

30 1
5

% I gpd;dkhf khw;Wf.  

a. 
3

10
   b. 

151

500
  c. 

151

5
   d. 

151

50
 

 

4. 35% of 35  
35y; 35% rjtPjk; vd;gJ  
a. 1.125  b. 1.225  c. 0.1225  d. 12.25  
 

5. Anbu scored 436 marks out of 500 in his exams. what was the percentage he 
scored?  
md;G vd;gth; 500 f;F 436 vLj;Js;shh;> vdpy; mthpd; kjpg;ngz; rjtPjk; 
a. 83.2%  b. 82.2%  c. 8.32%  d. None of these  
 

6. There are 50 students in a a class. If 14% are absent on a particular day, find 
the number of students present in the class.  
tFg;gpy; cs;s 50 khzth;fspy;> xU Fwpg;gpl;l ehspy; 14% rjtPjk; Ngh; 
tUif Ghpatpy;iy> vdpy; me;ehspy; tUif Ghpe;jth;fspd; vz;zpf;if  
a. 36   b. 86   c. 7  d. 43  
 

7. A family cleans a house for pongal celebration by dividing the work in the 
ratio 1:2:3. Express each portion of work as percentage. 
xU FLk;gk; nghq;fy; tpohtpw;fhf tPl;il Rj;jk; nra;tjw;F Ntiyia 1 : 2 
: 3 vd;w tpfpjj;jpy; gfph;e;J nfhz;ldh; vdpy;> Ntiyapd; xt;nthU 
gFjpiaAk; rjtPjkhf fhz;f.   



 

4 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

a. 1 233 %, 16 %, 50%
3 3

   b. 2 116 %, 33 %, 50%
3 2

 

c. 1 116 %, 33 %, 50%
3 2

   d. 2 116 %, 33 %, 50%
3 3  

 
8. What percentage of a day is 10 hours? 

xU ehspy; 10 kzp Neuk; vd;gjd; rjtPjk;. 

a. 86%  b. 43 2
3

 %  c. 41.67%  d. 40.25%  

 
9. Divide Rs. 350 among P, Q, R such that P gets 50% of what Q gets and Q gets 

50% of what R gets?  
R vd;w egh; ngWtjpy; 50% I Q vd;w egUk;> Q ngWtjpy; 50% I P vd;w 
egUk; ngWkhW P, Q, R vd;w %d;W egh;fSf;F &gha; 350 I gphpf;fTk;.  
a. R = 200; P = 50 Q = 100   b. R = 200, P = 75, Q = 125  
c. R = 100, P = 200, Q = 50   d. R = 100, P = 50; Q = 200  
 

10. What rate percent is 2 minutes to an hour?  
1 kzp Neuj;jpy; 2 epkplq;fs; vd;gjd; rjtPjk;  

a. 1 1
3

%  b. 4%   c. 3 1
3

%  d. 2%  

 
11. 48 is 32% of what number?  

xU vz;zpd; 32% vd;gJ 48 vdpy; me;j vz; vd;d?  

a. 66 2
3

  b. 150 %  c. 66 2
3

%   d. 150  

 
12. If Q% of Q is 676 Then find Q  

Q d; Q% MdJ 676 vdpy; Q d; kjpg;G  
a. 2600  b. 67600  c. 260  d. 65  
 

13. 66 2
3

 % of 50% of 27 is equal to  

27 d; 50% d; 66 2
3

 % d; kjpg;G  

a. 6   b. 12   c. 3   d. 9  
 

14. If 75% of a number is added to 75, then the result is the number Itself. The 
number is. 
xU vz;zpd; 75% cld; 75 I $l;Lk;NghJ mNj vz; fpilf;fpwJ vdpy; 
me;j vz; vd;d?  
a. 50   b. 60   c. 300   d. 400 
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15. A student secures 90%, 60% and 54% marks in test papers with 100, 150, 200 
respectively as maximum marks. The percentage of his aggregate is  
xU khztd; 100, 150, 200 I mjpf gl;r kjpg;ngz;fshf nfhz;l Njh;tpy; 
KiwNa 90%, 60%, 54% ngw;whh; vdpy; mthpd; nkhj;j Njh;r;rp rjtPjk; vd;d?  
a. 68%  b. 64%  c. 70%   d. none of these  
 

16. If the difference between 75% of a number and 60% of the same number is 
82.5, then find 20% of the number.  
Xh; vz;zpd; 75% f;Fk; mNj vz;zpd; 60% f;Fk; ,ilNa cs;s tpj;jpahrk; 
82.5 vdpy; me;j vz;zpd; 20% I fhz;.  
a. 550   b. 330   c. 110   d. 165 
 

17. Level of water in a tank is increased to 50 litres from 35 litres in 2 minutes 
what is the percentage of increase?  
xU njhl;bapy; jz;zPhpd; msT 2 epkplj;jpy; 35 ypl;lhpy; ,Ue;J 50 ypl;luhf 
mjpfhpf;fpwJ vdpy;> mjpfhpj;j jz;zPhpd; rjtPjk; vd;d?  

a. 
4

28 %
7

  b. 
3

42 %
7

  c. 
6

42 %
7

  d. 15% 

 
18.  A tank can hold 200 litres of water. At present, it is only 40 % full. How many 

litres of water to fill in the tank, so that it is 75 % full? 
xU jz;zPH; njhl;bapd; nfhs;ssT 200 ypl;lh;fs; MFk;. jw;NghJ mjpy; 
40% jz;zPh; epuk;gpAs;sJ. vdpy; 75% jz;zPH; mjpy; epiwaNtz;Lnkdpy; 
,d;Dk; vj;jid ypl;lh;fs; jz;zPh; Njitg;gLk;?  
a. 105    b. 70  c. 35    d. 25  
 

19. The value of a machine depreciates at 10% per year. If the present value is ₹ 
1,62,000, what is the worth of the machine after two years. 
xU ,ae;jpuj;jpd; jw;Nghija kjpg;G & 162,000 xt;nthU Mz;Lf;Fk; 
mt;tpae;jpuj;jpd; kjpg;G 10% FiwfpwJ vdpy; ,uz;L Mz;Lfs; fopj;J 
mt;tpae;jpuj;jpd; kjpg;G vd;d?  
a. 113220  b. 14580  c. 131220  d. 129600 
 

20. If the first number is 20% less than the second number and the second number 
is 25% more than 100, then find the first number.   
Kjy; vz; MdJ ,uz;lhk; vz;iztpl  20% FiwT. ,uz;lhk; vz; MdJ 
100 I tpl 25% mjpfnkdpy; Kjy; vz; vd;d?  
a. 540  b. 100  c. 200  d. None of these  
 

21. If the price of petorl is increased by 30%, by how much percent a car owner 
must reduce his consumption in order to maintain the same budget?  
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ngl;Nuhypd; tpiy 30% mjpfhpf;fg;gLfpwJ. fhhpd; chpikahsh; mNj nrytpy; 
ngl;Nuhiy njhlu Ntz;Lk; vdpy; cgNahfj;jpy; vt;tsT Fiwj;Jf; nfhs;s 
Ntz;Lk;?  

a. 21%   b. 
1

21 %
3

  c. 
1

23 %
13

  d. 33% 

22. An alloy consists of 30% copper and 40% Zinc, and the remaining is nickel. 
find the amount of nickel in 20 kilograms of the alloy.  
xU cNyhf fyitapy; 30% fhg;gUk; 40% [pq;f;-k; cs;sJ. kPjKs;sit 
epf;fy; MFk;. 20 fpfp cNyhff;fyitapy; epf;fypd; vil vt;tsT?  
a. 8 kg  b. 12 kg  c. 14 kg  d. 6 kg  
 

23. Amit's monthly income is 30% more than that of Raunaq. Raunaq's monthly 
income is 20% less than that of Deepak. If the difference between the monthly 
incomes of Amit and Deepak is Rs. 800, what is the monthly income of 
Raunaq? 
mkpj; vd;gthpd; khjtUkhdk; udhf; vd;gtiu tpl 30% mjpfk;. udhf; 
vd;gthpd; khjtUkhdk; jPgf; vd;gtiu tpl 20% FiwT. jPgf; kw;Wk; mkpj;-d; 
khj tUkhdj;jpd; tpj;jpahrk; & 800 vdpy; udhf; - d; khjtUkhdk;  
a. Rs. 12,000 b. Rs. 16,000 c. Data inadequate  d. None of these  
 

24. In an examination, 34% of the students failed in Mathematics and 42% failed in 
English. If 20% of the students  failed in both the subjects, then the percentage 
of students who passed in both the subjects was.  
xU Njh;tpy; 34% khzth;fs; fzpjj;jpYk;> 42% khzth;fs; Mq;fpyj;jpYk; 
Njhy;tpia jOtpdh;. 20% khzth;;fs; ,Ughlj;jpYk; Njhy;tp mile;jhh;fs; 
vdpy; ,U ghlj;jpYk; Njh;r;rp mile;jth;fspd; tpfpjk; vd;d?  
a. 44%  b. 50%  c. 54%  d. 56%  
 

25. In an election between two candidates, one candidate got 62% of the total 
votes and won by 432 votes. What is the total number of votes casted in the 
election?  
xU Njh;jypy; ,U Ntl;ghsh;fspy; xUth; nkhj;j thf;Ffspy; 62% ngw;W>  
432 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngw;whh;. vdpy;> gjpthd nkhj;j 
thf;Ffspd; vz;zpf;if  
a. 684   b. 1116  c. 1800  d. 504  
 

Self Practice  

26. Lalitha took a math test and got 35 correct and 10 incorrect answers. What was 
the percentage of correct answers? 
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yypjh vd;gth; jhd; vOjpa xU fzpjNjh;tpy; 35 rhpahd gjpy;fSk;> 10 
jtwhd gjpy;fSk; vOjpdhh; vdpy;> mth; mspj;j rhpahd gjpy;fspd; rjtPjk; 
vd;d?  

a. 
4

28 %
7

   b. 
3

71 %
7

  c. 
7

77 %
9

  d. 40% 

Solution:  
 Total Questions = 35 + 10 = 45  

    = 
35

100
45
  = 77

7
%

9
 

     
27. A metal bar weighs 8.5 kg. 85% of the bar is silver. How many kilograms of 

silver are in the bar? 
8.5 fp.fp vil nfhz;l Xh; cNyhf gl;ilapy; 85% nts;sp vdpy; mjpy; 
cs;s nts;spapd; vil?  
a. 7.125  kg  b. 7.225 kg   c. 7.325 kg  d. 7425 kg 
Solution:  
 85% of 8.5  

 
85

8.5 7.225
100

kg   

 

28. In an examination, 65% students passed in Civics and 60% in History, 40% 
passed in both of these subjects. If 90 students failed in History and Civics 
both, then what is the number of students?  
xU Njh;tpy; 65% khzth;fs; FbikapaypYk; 60% khzth;fs; tuyhW 
ghlj;jpYk; Njh;r;rp mile;jdh;. 40% khzth;fs; ,uz;L ghlj;jpYk; Njh;r;rp 
mile;jdh;. nkhj;jk; 90 khzth;fs; ,uz;L ghlj;jpYk; Njhy;tp mile;jhh;fs; 
vdpy; nkhj;jk; cs;s khzth;fspd; vz;zpf;if  
a. 600   b. 650   c. 700   d. 750 
Solution:  
 n(A  B) = n(A) + n(B) – n(A   B) = 65% of x + 60% of x – 40% of x  

   
65 60 40 85 17

100 100 100 100 20
x x x x x

 
     
 

 

 Failed in both = 
17 3

20 20

x
x x

 
  

 
 

   
3 90 20

90 600
20 3

x
x

 
    

 
 

   
29. The numerator of a fraction is increased by 20% and denominator of that 

fraction is decreased by 20%. the Fraction obtained is 
4

5
. What is the original 

fraction.  
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xU gpd;dj;jpd; njhFjpahdJ 20% mjpfhpf;fg;gLfpwJ. mjDila 

gFjpahdJ 20% Fiwf;fg;gLfpwJ. ,jdhy; fpilf;fg;ngWk; gpd;dk;
 

4

5
 vdpy;> 

Kjypy; ,Ue;j cz;ikahd gpd;dk; vd;d?  

a. 
8

15
   b. 

12

5
   c. 

16

15
   d. 

36

55
 

Solution:  

 Let the fraction be 
100

100

x

y
 

 numerator increased by 20%  

 Denominator decreased by 20% then 
120 4

80 5

x

y
    

8

15

x

y
  

30. 63% of 
1

7
7

 is  

1
7

7  
,y; 63%  vd;gJ  

a. 4.3   b. 4.5    c. 4.4   d. 4.8  
Solution:  

  
63 50 9

4.5
100 7 2

  
 

 

PERCENTAGE WORK SHEET– ANSWER 

1 2 3 4 5 6 7 8 9 10 

A C B D D D D C A C 

11 12 13 14 15 16 17 18 19 20 

D C D C B C C B C B 

21 22 23 24 25 26 27 28 29 30 

C D B A C C B A A B 

 


